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In order to write a Ger on it - M7 AR 195V 21005 97D

Overview
The X nx writes that the 7w to be 21 for carrying out the X7n9>7 hide on naw, is
that it is large enough to write a v on it.
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This ruling (that the IR YW for XN9°7 is VAT NX 1PHY 21NDH >7D) is according to
the 3239 of our Mwn, who permit writing a v on X127 hide, and that is the reason

why the X3 cites here this ruling of X517 mnw» “ox 72 1" -
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And these amounts (for the naws nX¥17 21n) is not according to the value of the
hide, for there is a hide which is more valuable and his 29w is greater than a
hide that is his inferior -
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Rather the 9w°w of each hide is dependent on what this hide is customary used
for.

Summary
The 21y*w of the various N1y depends on their usage [and ¥7n9°7 (according to the

0721) is used to write 7"v].

Thinking it over
What is the connection between the beginning of '01n (131 11273 11°77) to the end of
"0 (101 1YW 'R 92 ’OR)?6

!'In our mawn on 2,X3 it states, TNMSH 2MOM 121 RIND*T HY 121 PN PR MK 2", According to these o°mar, the ww
aR¥T for XN9 7 is va 1"y 2N2Y 72, for this is a use for which it is fit.

2 Otherwise why is the X713 teaching us here in P 'on the laws of Ax¥7 for the various hides. The reason is that the
w of Xn9°7 is dependent on the view of the 0> that it is VAT DR 19 N7 WA,

3 One would assume that the more valuable an item is, the smaller is the 1Ww*w for this item, since one is carrying an
object which is worth more than another less valuable object of an even greater size.

4 o> (which is PP5X X9 P K91 m9n) is less valuable than 7% (which is 795X mp1 1°91), and nevertheless the 1w w
for 791 is ¥ np 12 MwyY, which is smaller that P2%0n2w 73vp AW, the W w for 7%p!

5 It is customary to use 719°1 for ¥1p, and Xn9>7 for a v, and 7%p for 128N, Therefore that is their respective W w.
6 See apy> NXON.
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